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1. a. decreasing b. 82 c. .25(Loss of 25%) d. .75 e. 46.1
2. a. increasing b. 154 c. .36(Gain of 36%) d. 1.36 e. 284.8
3. 1,406,413
4. $5695.31
5. 6%
6. d
7

8

. See explanation on next slide
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Feb 6-4:09 PM



Unit 9 Day 9 2019.notebook February 08, 2019

Name, Alg 2 HW 9-8

For the given the equations, determine

a. Increasing or decreasing

b. The initial amount

c. The rate of change

d. The growth/decay factor

e. Find P(2) to the nearest tenth.

P()=82(.75) P(t)=154(1.36)

a. dxmegsmg' a. m.crgg{%

b. 32 b. 1S4

c. 1=715:.25 Lossof 257 c. 1.3b=12 3¢ Gon of 367
d .5 d [.3¢

e. H6.| e. 234.8

P(2):82()
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Write an exponential function Yo model each situation and evaluate for the given value.

3. A population of 1,236,000 grows 1.3% per year. What will the population be in 10
years?

P(E) +1,236,000 (1.013)"
P@0) = 1,23¢,000 (1.013) '°
< L, 406,413

4. Anew car that sells for $18,000 depreciates 25% each year. What will the car be
worth in 4 years?

C&) - 18600 (. 753"
) = (gooo(15)
= $5095.3|

5. A townhouse purchased 5 years ago for $100,000 was just sold for $135,000.
Assuming exponential growth, approximate the annual growth rate, to the nearest

percent.
135,000 100,000 (l )

S\FQT_ ,} (H—r or (Qo) (‘-l-r

l+=1.061858759
6%
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6. Which of the following best describes the graph of f(x)=47"? -F&) - (&':‘),\
a. It is an increasing function, and it approaches but never reaches the
horizontal axis to the left of the origin.
b. Itis an increasing function, and it appreaches but never reaches the
horizontal axis to the right of the origin.
¢. Itis a decreasing function, and it approaches but never reaches the
horizontal axis to the left of the origin.

d. Itis adecreasing function, and it approaches but never reaches the
horizontal axis fo the right of the origin.

7. Astudent says that the graph of f(x)= 2% + 4 is a shift of 3 units up and 4 units
to the right of the parent function. Describe and correct the student’s error.

The shudent mixed up "\0(&0/\“’&\ and verhiée 5'\I'ﬁ'
Tkttj also mived up e direction of e hor rordal Sl'\l'ﬁ'

This transfarmatien rmoved lef 3 wnrts and wp Y udty

8. Solve and check algebraically for all values of x:

G Bexe7 xE_15x+84 = 0O
xR (v-0)-9): O g 4,3
(X—S (7-9) x-b=6 |x-9:0

x5 : (7-x)(7-x) x=C |x:9 cejc
X549 - 1Yxaxt Cheek Check
-X +5 t5 X \/(‘-5 (=1 |I<?TS_+9 =7

el 97
7 1E7
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More Word Problems using Exponential Growth and Decay

Warm-up: Joelle has a credit card that has a 19.2% annual interest rate computations
compounded monthly. She owes a total balance of B dollars affer m months. Assuming she
makes no payments on her account, the table below illustrates the balance she owes after m

Unit 9 Day 9

months
m («) |0 10 19 36 60 69 72 73
b 'y) 1000.00 | 1172.00 | 1352.00 | 1770.80 | 2591.90 | 2990.00 | 3135.80 | 3186.00

Over which interval of time is her average rate of change for the balance on her credit card
account the greatest?
(1) month 10 to month 60

0
(2) month 19 to month 69 “53 t 4) month 60 to month 73 2ﬁ!\ !.
13

(3) month 3 2

1368

Yo

Feb 6-3:45 PM



Unit 9 Day 9 2019.notebook February 08, 2019

Yesterday we worked on word problems that dealt with growth and decay models based off of
being compounded annually. Today we are going to look at situations that deal with
compounding any amount other than annually, If you look at the equation below you will see
that there is a small adaptation to the formula.

AN =al+r)

A(t) =a(l+ Dy
n

where:
A(‘r)—)eﬁdl':)c-') Vqle Hf«‘}‘g o—C c)\oms(, (O‘cc;m-‘\ )
a> ‘f'\'l"'l'al VQ"A-\ H"""‘\e

o f\an'lxr O-( -Ij,;‘es (1+r) +3faw-f4\/o‘ec<y 'g‘;(‘"of\
19

QA rate (g b,
Compomnd e A )

Feb 6-3:46 PM

Determine the amount a $4500 investment is worth after four years at the following interest
rates:

5.4% compounded annually A(e a (I +F)

N
Al4 $ ¢
5 4. Oy ) = 4s00(. O‘a‘l—) FA33.L O

5.4% compounded quarterly A('k') Q( ""

T A ‘*ﬁi« 55,90

sércomanseanamy AK) o (L
17\ r(+)
A(4) : ‘fSCO(H-—O—SL) B5582.2¢
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You have $15000 to invest for five years. Fund A pays 13.2% interest compounded annually.
Fund B pays 12.6% compounded quarterly. Fund C pays 12.5% compounded monthly. Which
fund will return the most money? Justify your answer.

F%d:f-‘ A("')B:I‘SOOOCI. t31)5.- $90,8%1. 97

Rty AG):15006 (1,:26)" = B, 891.9¢
iy A(9):15000((1 8 us) = $27,933.24
Answer: F‘_Q'\A C

Apple stock was worth $10 a share in 1995. Due to Apple's success, the stock was worth $90
a share in 2017. Assuming exponential growth, approximate the annual growth rate, to the
nearest tenth of a percent.

?Q" IO( |\~r->mL
10 ¥e) \052

7l€~'1(|rr)u' e
ltr: | lOS'/f{ 10S

February 08, 2019

Feb 6-3:47 PM

Feb 6-3:48 PM




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

